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y=ax’ - logy=Dblogx+loga y=alogx+b y = ab”
logy =logb-x+loga
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MATLAB
1 52 |5 18.6
2 5.6 6 21.7
3 8.5 7 25.2
4 141 |8 27.1
MATLAB

x=1:8:y=[5.2 5.6 8.5 14.1 18.6 21.7 25.2 27.1];
plot(x,y)
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] inv([x*x" sum(x);sum(x) 8])*[x*y'; sum(y)]
X*x' sum(x) sum(x) 8
sum(x) sum(x) X*y' sum(y)
N 2
y=2%
i=1
C
y =0.0;
for (i = 0;i< n;i++) {
y +=X[i] * x[il; // y = y+ x[i] * x[il;
1 0 n-1
}
MATLAB C
y=0;
for i=1:n
y = y+x(i)* x(i);%MATLAB 1 n
end
MATLAB sum
X
Y=X*X",
X L

y = sum(X.*X);
MATLAB
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inv([sum(x.*x) sum(x);sum(x) 8])*[sum(x.*y); sum(y)]
ans =
3.5167
-0.0750

a=3.5167,b=-0.0750 MATLAB
A x=(ATA)*ATD

A=[x" ones(length(x),1)];inv(A"*A)*A"*y'
ans =
3.5167
-0.0750

length X ones length(x)
x inv
MATLAB
MATLAB ¥ A

Ayy'
ans =

35167

-0.0750

MATLAB
y=3.51x-0.07

plot(x,y,'0' x,3.51*x-0.07);legend(‘'actual’,'estimated’)

plot X y
help plot
legend legend
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2 y=ax"2+bx+c

MATLAB




2002-2003

2

Yo | [X% X 1

) a
yl — Xl Xl 1 b
\Z Xz2 X, 1 c

2
Yal X5 X 1

A=[x(:)."2 x(}) ones(length(x),1)];b=y(:);xxx=A¥b

xx=1:0.1:8;plot(X,y, 0" XX, XXX(1)*XX. 2+ XXX(2)*Xx+XxX(3));
legend(‘acual’,'estimated");
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A:[1./x(:; ones(lt_angth(x),l)];b:y(:);xxx:A¥b

xx=1:0.1:8;plot(x,y, 0" xx,xxx(1)./xx+xxx(2));legend(‘acual’,'estimated’);
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A=[sqrt(x(:)) ones(length(x),1)];b=y();xxx=A¥b

xx=1:0.1:8;plot(x,y,'0' xx,xxx(1)*sqrt(xx)+xxx(2));legend(‘acual’,'estimated");

logy, logx, 1
lo lo 1| b
y=aXb—) gyl — gxl a,b
logy, logx, 1|a
blogx+a
logy, logx, 1

A=[log(x(:)) ones(length(x),1)];b=log(y(:));xxx=A¥b

xx=1:0.1:8;plot(x,y, 0" xx,exp(xxx(1)*log(xx)+xxx(2)));
legend(‘acual’,'estimated");
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y=alogx+b

Yo | |[logx, 1
A logx, 1| a
Y, B log X, 1{b:|
Y3 logx, 1

A=[log(x(})) ones(length(x),1)];b=y(:);xxx=A¥b

xx=1:0.1:8;plot(x,y,'0"' xx,xxx(1)*log(xx)+xxx(2));

legend(‘'acual’,'estimated');

xx=1:0.1:8;plot(log(x),y,'0",Jog(xx), xxx(1)*log(xx)+xxx(2));

legend(‘acual’,'estimated’);
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log y, X 1
y=ab* - logy, | | % 1flogb
logy = xlogb+loga logy, - x, 1|loga

logy, | % 1

A=[x(}) ones(length(x),1)];b=log(y(}));xxx=A¥b

xx=1:0.1:8;plot(x,y,'0" xx,exp(xxx(1)*xx+xxx(2))); legend(‘acual’,'estimated’);

legend(‘acual’,'estimated");

xx=1:0.1.8;plot(x,log(y)," 0" XX,XXX(1) *XX+XXX(2));
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ab J=>{y, - (ax +b)f MATLAB
i=0
tmp=A¥y"a=tmp(1);b=tmp(2);J=sum((y-(a*x+b)).*2)
J= 118483
MATLAB 2 ab for

x=1:8;y=[5.2 5.6 85 14.1 18.6 21.7 25.2 27.1];

A=[x" ones(length(x),1)];
tmp=A¥y";a=tmp(1);b=tmp(2);J=sum((y-(a*x+b)).A2);
% first determine sweep range of a and b.
sweepa=(-0.1:0.01:0.1)+a;sweepb=(-0.1:0.01:0.1)+b;
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JII=[I;
for bb=sweephb
NAETH
for aa=sweepa
JJ=[3J sum((y-(aa*x+bb)).~2)];
end
JJ33=[333;,3J];
end
surf(sweepa,sweepb,JJJ);
hold on
plot3([tmp(1) tmp(1)],[tmp(2) tmp(2)],[min(JII(:)) max(JIII())],'r", linewidth'5);
hold off
shading interp
xlabel('a");ylabel('b");zlabel('J");axis tight
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